(31) Satteldach mit schriigem Anbau, Dachneigung 27° und 22°.

Ges.. First-, Kehlen- und Traufenlangen; Dachflachen.
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Ly, = 5701 - 850 » tan 15,255° = 3,383m
__ AT _ 5701 + 3,383 _
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Lpa i o5 15 75" 3,493m L, 43,21;93 4,542 = 8,035m
gA,SCh: [0S I/|5 2550 = ﬂn
y = 3,370 * tan 15,255° = 0,919m
01= 13,372 + (6,405 - 0,919)2 = 4,849m
HINYE e Leq= 16,8697 + 17172 = 5, 1h4m
J i C oy 3,370 i o
: % Tyq= tan 05 - 0919 44,030
5_ Yp 4= 90° + 15255° - 44,030° = 61,225
13370
Yyo= tan 05 + 09 32,333
Yao= 90° - 15,255° - 32,333° = 42,412°
0p = 13,372 + (6,405 + 0,919)2 = 6,301m
L= 16,3012 + 17172 = 6,531m
Traufenlongen:
l; = 13,60 * 2 - 4,405 « 2 + 5,701 + 3,383 = 27,474m
Dachflachen:
Acrun= 13,60 = 12,40 - 3,37 » 4,405 = 153,80m?
Agry a= (4,542 = 4,25) » 2 + 3493 « 4,25 = 53,45m?
153,80 53,45

A.p= ' + = = 172,61 + 57,65 = 230,26m?
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